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1. Which of the following is most likely part of the CFA Institute Standards of Professional
Conduct, Standard I-Professionalism? Members and candidates:

>

must understand and comply with all applicable laws.
B. must not engage in practices that distort prices or artificially inflate trading volume with the
intent to mislead market participants.

C. must deal fairly and objectively with all clients when providing investment analysis, making
investment recommendations, taking investment action, or engaging in other professional
activities.

Answer: A
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2. Yuan, CFA, is chief investment officer o Goldeh Sec rft@s kecently, Yuan found that their
company's promotional materials fo }nar\ketlng activities had a mistake. The value of their
management asset list on the/m)afterlal Washlghe/r th}q their current actual market value. Yuan
realized the reason might be recent market volatility. Which of the following actions is most
accurate to comply with the CFA Instrtute CoHe and Standard.

A. Do nothing, because the day m terial made; the value was correct.
B. Correct the asset value and add a footnoteindicating the day that the value calculated.

C. Report the mistake to-government regulators.
A

Answer: B , y
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3. Yuan, CFA, is a bond research analyst in XYZ securities. XYZ securities hold a large position
in the bond of Carly Group. In last week, many securities company change the stock
recommendation of Carly Group, since the disappointing financial report just released. It also
led to the collapse of Carly bond prices. Yuan’s supervisor asked Yuan to call their clients and
convinced them to continue holding the bonds of Carly Group. However, Yuan had a different
thought. He believed the Carly bond price was overvalued. Which of the following action is the
most appropriate to comply with the CFA Institute Code of Ethics and Standards of
Professional Conduct, Yuan should:

>

make these calls with prominent disclose.
B. follow his supervisor’s request, because of the chain of command.

9

deny his supervisor’s request.



Answer: C
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4. To minimize the impact material nonpublic information inside the investment firm, which of
the following actions are appropriate except:

A. Banning personal trading.
B. Building firewalls.

C. Cutting compliance department to increase efficiency.

Answer: C
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5. Yuan, CFA, is a famous research analyst works on Golden Securities. Sam Group appreciates
Yuan’s research report quality and invites him to write an issuer-paid research report.
According to the CFA Institute Code of Ethics and Standards of Professional Conduct, Yuan
should:

accept this assignment with a flat fee and disclose this relationship in the report.

>

B. accept this assignment with a fee linked the Sam Group stock price and disclose the fee in the
report.

C. reject this assignment because it will compromise his independence and objectivity.

Answer: A

it
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6. Jack Bauer, CFA, works on Golden Finance as a portfolio manager. His father Linker Bauer is
a senior manager of KPMG. During a family party, Linker mentioned that he was busy working
on an audit of a car maker company recently. Linker also mentioned that the car maker
company might encounter financial distress. Jack just listened and did not think too much. A
few days later, Jack solicited a new client and found the client heavily holding the car maker
company. Jack did some digging into the car maker company and found nothing about the



financial problem. Which of the following actions is the most appropriate to comply with the
CFA Institute Standards of Professional Conduct?

A. Do more research then sell the stock.
B. Sell the stock directly because he has soundness reason to do that so.
C. Do nothing.

Answer: C
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7. According to the Mosaic Theory, what kind of the following information can most likely be
used in the investment recommendation by the practitioner?

A. Public information.

B. Non-material nonpublic information.

C. Both A and B.

Answer: C
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8. Yuan, CFA; is a fund manager works on an independent investment institution. He manages a
trust fund. This trust fund was established by a millionaire, and the beneficiary was his minor
son Jack. The IPS stipulate that the fund is to provide Jack with living expenses and tuition
fees, and continues until he is 40 years old, so the fund required to invest low-risk and stable
income only. However, Jack found Yuan and asked him to invest in a private equity fund. Jack
believes that this private equity fund can provide a very good return, although there is a three-
year lockup period.

During the lockup period, there is zero yield and cannot redemption. Yuan accepted Jack's
request and invested in this private equity fund. Did Yuan most likely violate the CFA Institute
Code of Ethics and Standards of Professional Conduct?

A. Yes, because the decision against IPS.
B. No, because the beneficiary is Jack.
C. No, because the private equity has a good return.

Answer: A

fifE T«

ARIEER. ZEIEERENE T ETIEN, AEZHEN, R4 Standard 1I(C)-Suitability s
—PMRGAT RO RS FE# FI BT AP0 IPS OVHE, AR RIWT AR 2 NIEKR.

B IE%EIWQ |:|7!<0 %mAIEgp, JDI“//L IPS jj{ﬁo



C RHIRE R, AMEM BB E NIRRT AT, BTG TIPS ZER AR XA 2 1
i 2%

MERE:

9. Yuan, CFA, is a fund manager. When Yuan is soliciting new clients, he claims that his
investment return has exceeded 50% in the past three years. Based on that fact, he can
guarantee such return to his new client in next year. Which of the following statements is the
most accurate to comply with the CFA Institute Code of Ethics and Standards of Professional
Conduct?

Yuan can guarantee that return to his client based on his excellent investment history.

>

B. Yuan does not need to mention his role in the history of investment action.

)

Yuan failed to distinguish the fact and opinion, he can’t use his historical investment return to
imply the future performance.

Answer: C
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10. Yuan, CFA, is a portfolio manager works for Golden Finance. Alex Muller is one of Yuan’s
clients. They have not been in contact for more than three years. Recently, Alex suddenly called
Yuan and said that he made a lot of money and wanted to invest in some high-risk and high-
yield investment products. Yuan immediately recommended and invested in some private
equity funds. As usual, Yuan also prepared the list of these funds, the details of the proceeds,
and sent them to Alex monthly. Did Yuan'most likely violate the CFA Institute Code of Ethics
and Standards of Professional Conduct?

A. Yes, he violated for investing private equity funds.
B. Yes, he violated for the details of proceeds.
C. No.

Answer: A
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11. Which of the following is most correct regarding standard IV-Duties to Employers?
A. Members are not allowed to participate in independent practice.
B. Under no circumstance shall a member violate his loyalty to his employer.

C. When the employer engages in illegal activities, the actions taken by the employee to protect
the integrity of the capital market are permitted.

Answer: C
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12. Which of the following statements is in compliance with Standard IV(C) Responsibilities of
Supervisors?

A. Members and candidates acting as supervisors cannot delegate supervisory responsibilities.

B. Members and candidates can delegate supervisors’ responsibilities without implementing the
education and training programs.

C. When delegating supervisors’ responsibilities, members and candidates should instruct on the
methods to prevent and detect the violation of Code and Standards.

Answer: C
CIETIERG, ERIRINEZTIRTING, AR ORYE e Fnme o 1748 I 47 5 R 57 .
HMEE.

13. Yuan, CFA, was a junior research analyst at Golden Finance. He wrote a report that included
predictions from an econometric model developed by his colleagues. He highlighted the source
of this projection. The report also contained all relevant statistical data on the model and his
comments on the accuracy of the model. For the Standard V (A)-Diligence and Reasonable
Basis, Yuan had: \

A. not violated the Standard V (A).
B. violated the Standard by including quantitative details in the report.
C. violated the Standard by not testing the model himself.

Answer: C
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14. Thomas Anderson, CFA, recently quit his job as an investment consultant and started his own
business. Based on his memories, he recreated the investment model he made at his former
employer. Anderson provided the model to some prospective clients as an example to prove his
abilities. Did Anderson violate any CFA Institute Standards of Professional Conduct?

A. Yes, with regard to Standard V (C)-Record Retention.
B. Yes, with regard to Standard V (B)-Communication with Clients.
C. No.

Answer: A
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15. Yuan, CFA, is a portfolio manager, who has two clients. Both clients have the same amount of
money in their accounts. Yuan thinks that a recession is coming, so he begins to increase the
proportion of less risky assets in each account. In order to comply with Standard V (B),
Communication with Clients and Prospective Clients, Yuan should:

A. ensure that he does the same investment strategy for both clients.

B. communicate with both clients about the change and inform them that the investment is based
on his opinion.

C. do both of that.

Answer: B
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16. Michael, CFA, works as an Editor-In-Chief; at the ANZ bank’s marketing department. The
Financial Times Magazine, which is published according to its business function, always
recommends securities to the market. Once the magazine is published, it always guides those
recommended stocks to a fairly good performance.According to the recommendation, Michael
often trades stocks before the magazine is published. Meanwhile, ANZ bank’s compliance
department requires all portfolio managers or-analysts to obtain prior approval for the
transaction. Which of the following CFA Institute Standards of Professional Conduct does
Michael most likely violate?

A. Independence and Objectivity.
B. Material Nonpublic Information.
C. Disclosure of Conflicts.

Answer: B
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17. Jenson Button, CFA, is a product development manager at a private equity fund. He is in charge
of developing and promoting a new structured financial product, CBO ( bond obligation),
which includes many emerging-market corporate bonds. In the product-related catalog, Button
discloses a list of selected underlying bonds. The catalog also mentions about one independent
collateral agency, who has discretion over the selection of all corporate bonds. In fact, Button
has discussed with the collateral agency manager many times and instructed him to select bonds
for the CBO. Button is most likely to violate which of the following CFA Institute Standards of
Professional Conduct?

>

Disclosure of Conflicts.
B. Suitability.
C. Diligence and Reasonable Basis.



Answer: A
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18. According to the Global Investment Performance Standards (GIPS), which of the following
statements is most likely accurate?

A. Compliance with  GIPS is the best way to adhere to
Standard I(C)-Misrepresentation and Standard III (D)-Performance Presentation.

B. Compliance with  GIPS s the only way to adhere to
Standard I(C)-Misrepresentation and Standard III (D)-Performance Presentation.

C. Compliance with GIPS is claimed by the regulatory agency.

Answer: A
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19. When local laws governing performance calculation presentation conflict with GIPS, firms that
claim compliance with GIPS:

A. should follow the stricter standard between local laws and GIPS.

B. should calculate and present two groups of investment performance data separately complying
with local laws and GIPS.

C. should comply with local laws and disclose the conflicts.

Answer: C

3 C Wl FERFRAR BTG, W R Sy A B AR R E AT GIPS N & A PR
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MEFE:
20. Which of the following entities can most likely claim its compliance with GIPS?
A. A local subsidiary corporation that provides investment management business.

B. A transnational investment consulting services company.

C. Anindependence investment research firm.

Answer: A
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1. Angel has just received a compensation decide to use it for her tuition fee next year. So she
invested it into a money market deposit account which pays her 3.5% interest rate. The tuition
fee will be $3500 in one year and Angel has to determine the amount of money she should
invest today. The interest rate which this account pays her can be interpreted as:

A. discount rate.
B. required rate of return.
C. opportunity cost.

Answer: A
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2. The X project of Neptune manufacturing company has reached scale economies. X project can
generate $200 million cash flow today, $200 million in 1 year and $300 million 2 years from
today. How much would these be worth now using a 12% discount rate?

A. $700 million
B. $617.73 million
C. $551.54 million

Answer: B

B EIER, 2R AMUIERTIL. SEE8EISRTIERF, 200 +200/(1 +
12%)* + 300 / (1 + 12%)* = 617.73
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3. The price of a 45-day T-bill is $986. It will pay out $1,000 on maturity. The money market
yield of the T-bill is closest to:

A, 11.20%
B. 11.36%
C. 12.12%
Answer: B

Discount = Face value — Price = 1000 - 986 = 14

MMy = DO, 3 = 14 x30 = 1113X% , B 1%IRIEM,
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A BT RAYE Bank discount yield(BDY), FRLAARIEM, C XIRAYE Effective annual
yield(EAY), FFLAARIERS.
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4. Suppose Golden Finance invests $1.37million in academic research at the beginning of year 1,
and the discount rate is 8%. The estimated after-tax earnings in this project are listed as below:

End of year 1 0.5million
End of year 2 0.65million
End of year 3 0.93million
The net present value (NPV) of the project is closest to:
A. $0
B. -$0.39 4
C. $0.39 4 / \
Answer: C N ¢ / R %” "
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B. negative.
C

zZero. A 4

Answer: A vl
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6. The Coefficient of Variation of a portfolio is 2 and the rate of the return is 15%. Suppose the
risk-free rate is 4.5%, what is the Sharpe ratio of the portfolio?

A 14
B. 0.5
C. 0.35
Answer: C

BRREZRRMCVIIHHEHINEE,
CVv=ss __ =2 s=013, {BEfREER 0.3,

X 115



FRNITE Sharpe ratio BT, Sharpe ratio=(0.15-0.045)/0.3=0.35, XIRIIEAFIEIRC,

MRIRE CV 2RRWD FLEXE, RETEBEIRZ 1.4, BEERIET A,

IT& Sharpe ratio FEREITXIGIERE, WRERNAER, WSEEEIICY BYEEL, BD 0.5, XIS
IRIEIN B,
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7. Based on a senior analyst’s research, there is a 45% chance that Company AXY will be
acquired by Company BND next month. If being acquired, the Company AXY’s stock price
will go up by 35%. If the acquisition does not happen, its stock price will drop by 10%. What is
the expected rate of return if one invests in Company AXY’s stock?

A, 11.5%
B. 10.25%
C. 11.85%
Answer: B

RS HEKRRNTESE. BERERETURANETEAINEISERER,
BJ E(R)= 0.45%0.35 + 0.55%( -0.1) = 10.25%.,

HE: B

8. A Pharmaceutical Company claims to discover a new approach to diagnose an infant disease.
According to their research, the probability of the disease being detected when a baby has a
disease is 99.9%. The probability of the disease being detected when the baby has no disease is
0.6%. The historical data shows that the probability of an infant getting the disease is 0.4%.
What is the probability that an infant has the disease when it is diagnosed with the disease?

A. 40%

B. 80%
C. 60%
Answer: A

AEER: MHEAR., BENSEHA N BILEERE. H4B A HizkaEm. N:
P(A) = 0.4%
P(B|A) = 99.9%
P(B |A®) = 0.6%
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FESIEENTTE B BUHOTRIHEE: PB)=P(B|A) *P(A)+ P(B| A%) *P(AC)=99.9%*0.4%+0.6%*(1-0.4%) =
0.3996%+0.5976%=0.9972%. fENATL: P(A|B)=0.3996%/0.9972%=40.07%

WEE: M

9. A fund manager is trying to construct an investment portfolio. During the security selection
process, how many ways are there for him to select six stocks from a group of nine if the order
does not matter?

A. 65

B. 102
C. &4
Answer: C

ARES: PHTESAT: =3,
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10. Assuming that the rate of return of an asset follows a normal distribution with a mean of 8%
and standard deviation of 6%, the probability that the rate of return will be below 6% is closest
to? Cumulative probability for a standard normal distribution: N (0.33) =0.6293.

A. 62.93%.
B. 59.87%.
C. 37.07%.
Answer: C
— 4
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11. The population follows an unknowﬂ dlstrl ution The sa le mean is 120 and the standard
error of the sample mean is 6. he;éa ple size is 12(Y 90% confidence interval for the
population mean is closest to: ’ P\
A. 108241013176 | / . \/
B. 70.5t0169.5 AN j;,\\/
C. 110.1t01299 y C#~
y 't

Answer: C
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12. An over-fitting statistical model generates a conclusion that the stock price is positively
correlated with the number of mice in Country X. The finding is most likely caused by:

A. data mining bias.
B. time period bias.

C. sample selection bias.

Answer: A
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13. Inregard to Type I and Type II error, which of the following statements is least likely correct?
A. Given the significance level, the probability of Type I error can also be known.

B. Type I error means that the null hypothesis is rejected when it is actually true.
C. Type II error means that the null hypothesis is rejected when it is actually true.

Answer: C

FEER: FEERSERIH.

A BRERIEXRSETESE, FUSNESEER, BAE TS REROEE;
B: F—XERELARRIELANIAT, HAENRETRRIR;

C: BHERBLRBRRELANIE, HiIALREEBRRIR.
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14. In order to test whether the mean of annual price appreciation of apartments last year in
California equals to 10%, an analyst has selected 576 apartments as a sample. The analyst
found the annual price appreciation of these 576 apartments had a mean of 9% and a standard
deviation of 4%. The corresponding test statistic is closest to?

A.-0.25

B.-6
C.-1.96

Answer: B
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1. For Giffen goods and Veblen goods, which of the following description is inaccurate ?

A. For Giffen goods, the negative income effect overwhelms the positive substitution effect, so the
quantity demanded decreases.

B. Both Giffen goods and Veblen goods have upwardly sloped demand curve.
C. Both Giffen goods and Veblen goods are inferior goods.

Answer: C

RN E b = R O S Sl E o AN ¢ A N a1 S e AV VAo (= e U = vl v N P
A R R B IR, HOETT A R IR, BAREMAETEEW, mAHER . BHaeE
i [ 7 SR = B Ui BT magoin, - DRI 7 K ath 2 10 th 2 1) BBt . B IETIE IEHIR), C ik
WU AE R N TR AR T it A (A i

2. The price of the apple increases 20%, while the quantity demand for apple falls 40%. The price
elasticity for the apple is:

A. 2.0
B. -0.5
C. -0.08
Answer: A

Mg aatE= (TR L) /1 (RSB H ) =(-40%) / (20%) =-2.0, HUEFF A

Which of the following statements most accurately describes the law of diminishing returns?
Total product rises when the input increases.

Average product will decrease when doubling the number of workers.

0w P W

Marginal product will decrease when doubling the number of workers.

Answer: C

B EHR BB, MEARKEAZ, FFH A L2 A A 9 [ e B
A INSF BN, BERTIE — B 55 B By SR A= B B 42/ . Rl
TEAMS, BENT XG5 1)E, S mastim, (Hibbrr=H e T .

4. In the long run, a firm in a perfectly competitive market will least likely:
A. Earn economic profit.

B. Produce goods at lowest average cost.

C. Experience economies of scale.

Answer: A

RoNE TS IR A NEE 2, EAAEETANE, WeAE2A#EATTYE, 309
it WM T, HAE TR, WaailaeaEitiig, SEimits
% B BT SRR, T IR S RURS S Dl B AR it 2R S A i 2 1Y
VIR, N 2FRNEAE, AETURIEAE 5. AR, mT573 i T, wLL
PR & DT e 55— RN, Al AT BLIE PRI 28 GRS LSS S (A O

5. Which of the following conditions is the most likely condition for a firm to maximize the
profit?

>

Price equals marginal cost.

B. Marginal revenue equals marginal cost.



C. Average revenue equals marginal cost.

Answer: B

XFAR Y, | RS FE &R R 2 & MR=MC, B &2 IEfiT . RAMEEERS
migh, BN HENMEESH, 113 P=AR=MR. K 1] FHP=AR=MR=MC {ENF|HH K
B2, (HIXANAE S sa S iR oL, MO IEA. C LT,

6.  Which of the following statements about monopolistic market is least accurate?
A. Economic profit can exist in the long run due to high entry barriers.

B. The product offered by the seller has no close substitute.

C. A monopolist will charge as high a price as possible.

Answer: C

22 AR B KA, AN e e B A o AL, 228 ) R SE IR e KA A AT
SR MC=MR, MU GriA—E e, i C IETUEAERK. Biliiat, RA 8K
TFWY, RMAFEME RN [N, 2ZEiig a5 WM e sk A B2, JFR 62
BUNER]L G H] 5 .

7. In an oligopoly market, the demand curve for a manufacturer is approximate horizontal. This
situation is most relevant to which of the following models?

A. Kinked demand model.
B. Stackelberg model.
C. Nash equilibrium model

Answer: B

HRAESTH] Wi, (5 SR iR B SRRt & oue = g s, X
flt/N R R BERE RS B E A% . ST 58 & sE i, /N AR R 2 K
.

8. Regarding aggregate demand curve, which of the following statements is most accurate?

A. Anincrease in government spending will cause the aggregate demand curve to shift to the right.
B. Stock market-crash will cause the aggregate demand curve to shift to the right.

C. Low business confidence will cause the aggregate demand curve to shift to the right.

Answer: A

BUMSZH RO, = SEUEFRE, AD &Ai230. BRHUEIE A.

i Kk, =S BUE RBEEM E A, Wi 2, 55K, AD &ir A3,
FTLAANE B

AP FEE RSB E LR, S BARRE, MMk AD iR AR5, Fril ik
C.

9. Which of the following will most likely cause a movement along the short-run aggregate supply
curve?

A. Companies expecting that the prices of their products will decrease relative to the general price
level.

w

A decrease in general price level.
C. Depreciation of the country’s currency.



Answer: B

7K1 R B2 S 300 short- run aggregate supply curve [\ /2 5830, WA R FEIEKL
¥, Frblik B.

A TR 7= SRS S AR T AR K R BRRS, RME AR IIRNE R S FE, &
Aeah £/ b A2 7%, S short- run aggregate supply curve [H] 2 FF%. T LAARIE A

B AE KT AE, WS D EM R 2 BT, AR BT, 28
short- run aggregate supply curve 244 [m] /2P . BT LAANIE C.

10. Country A is experiencing high inflation combined with high level of unemployment, which of
the following best describes the situation?

A. Disinflation.
B. Hyperinflation.
C. Stagflation.

Answer: C

il BRI RSN KR, KR, stagflations B PLi%k C.

Disinflation i§ K20 7ERGE L5k . FrAARIE A

Hyperinflation $5 1) 2 Ak B TRz, 491 it B A = 40 iskadk B 5t J& Thyperinflation.  Jit
PAAIE B

11. Which of the following statements is most accurate?

A. The three types of unemployment include underemployment, structural unemployment and
cyclical unemployment.

B. The three types of unemployment include frictional unemployment, structural unemployment
and cyclical unemployment,

C. The three types of unemployment include frictional unemployment, temporal unemployment
and cyclical unemployment.

Answer: B

— L =R L, frictional unemployment, structural unemployment fllcyclical
unemployment. Fft LLI% B.

12. Suppose the required reserve ratio is 20% and the supply of base currency is 100,000 in country
A. In case other factors are not considered, if central bank adjusts the required reserve ratio to
10%, how will the money supply change?

A. Money supply will drop by 10,000.
B. Money supply will drop by 500,000.
C. Money supply will increase by 500,000.

Answer: C

O YT AR RV R A 2 20%, T4 1T 5% M IR EE 1/20%=5.
D) 22 i ) B T (R 2 B T e e DAL At 0% =5[1100,000=500,000. 4 B¢ T 1H % & R AH 2|
10%H, 17 Mai=1/10%=10.



T HE 25 4 23840 5 1 5% AR 82 100]100,000=1,000,000. K th, 6% Ak & 1281k 2
1,000,000-500,000=500,000. i}, A@EIERE C. A Fl B B RAAIEH .

13. China has a large fiscal deficit, but some economists are not worried about the size of the fiscal
deficit. Why are they not worried about the size of the fiscal deficit?

A. Money borrowed may have been used for capital investment projects or enhancing human
capital. These lead to increase future outputs and tax revenues.

B. Government borrowing may lead to higher interest rate and lower private sector investment.

C. High level of debt to GDP leads to higher tax rates in the search for higher tax revenues, which
discourages economic activities in the future.

Answer: A

AGENH e E BRI BOR S EIERR, RS BT R AVEIUH B D BEAR TR, X
i 34 0 SR RS 77 m_fui‘bﬂﬂ%ﬂ%ﬁll&q&)\ P, IZT/%““E/Q’“ i%??ﬂluﬁﬁﬁ?l

B AN, BNBURFL £ AR S R A, Mﬁ%ﬁﬂk%ﬂﬁﬁ/gxﬁﬁwﬁﬁ%
AR 24t

C AL, BB £ 0 51T 5 %E%%Emﬁ%%%@,ﬁiﬁﬁwmﬁm%m
wesrEn. suRsmmrsnrize, \\W & S

\ \\
14. Assume that country A has an absolute advamage 1\the prod an both potatoes and meat,
while country B has a comparative advantageu\\n the productf@m f meat. Which country can

benefit from the trade if they trade /ﬁlth &@h other and Why‘?\
Country A can benefit from th trad%eoause it has- zfn&hsolute advantage in both goods.
B. Country B can beneﬁt from tradeb;cause it. h(c)s\c/ornparatlve advantage in the production

of meat. Q /;\

>

C. None. Country B does not have an absolute advantage in each of the two goods, so it will not

trade with country A. // Fé

Answer: B

B &Xti. bR ”%XTI%&%@%%U, AR LRSS, MR PRT LS . VB
FEA PR BT A RS BrELE T BANEA 5 th3kdl. i, B X .

A . A TE BRSNS 5 PRI E R T AR AR, TR T LA 3

C M. B, WRAFBHEATLUHEAL S, FAEAIEA & A mams, Fﬁuﬁfl‘]
ATEAOA R Gy kA ok, MEBrmBkil, B EZGS A F#TR S, ARk TIH
A Tfﬁﬁpw%?ﬁ% A AL

15. 15, The table below shows the information about the spot exchange rate:

Spot rate on January 1, 2017/Change in 2017
CNY/USD|6.9450 -6.3%
JPY/USD |116.7500 -1.74%
HKD/USD|7.7550 0.75%
The CNY/JPY cross exchange rate on January 1, 2018 is closest to:

A. 0.0567

B. 17.6369

C. 6.5075

Answer: A

AUH ZOROR 2018 € 1 A 1 HI AR MATH uiIAZ 0, HEEL RIS T i AR T



R AN 52 T bt H Te IVE SRR 5

R, 12640 AR HAE 2018 4E 1 A 1 HFEJu s AR M B 376 5 H eI EP AV 2.
CNY/USD = 19450 (1 — M13%) = WI51175
JPY/USD = 117570 (1 —1174%) = 114171¥
SRJ5, CNY/JPY = (CNY/USD) / (JPY/USD) = MI50175/11417 104 = D105M7. Ftk, %8 H ik
A
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1. Which of the following is most likely used to compare a firm’s profitability to the industry
average?

A. Balance sheet
B. Income statement

C. Statement of cash flow

Answer: B

B IEHA, FIERA S AT SCHURATE, AT DUR X BAT b P2 7K T
A RIE, B SR ANEE S 2 =] 24 1T A 1 O
C ANIEH, Bl ERARE WA 7 2 {i A 15 5 .

MEE: 5

2. Which contra account is an offSet to current asset?
A. Accumulated Depreciation.

B. Sales return and allowance.

C. Allowance for bad debt.

Answer: C

SXTE R ] 5 AR W — R S sl B 7 A 3R H o IERIEITN C, IRIKHE 25 D BRSO Y 4%
HRHH, NBOKFOR A5 . Tl A RiFIrIH, N E R &R H, iR, %l
B, fHEIRE, ARAREIERE, R,

3. According to the following data, how many shares of common stock should be used to calculate
diluted EPS?

* Net income of $1,500,000, tax rate of 35%.

* 1,000,000 shares of common are outstanding at the beginning of the year.

*10,000, /5% convertible bonds with each bond convertible into 10 shares of common stock were
issued at par ($100) on June 30% of last year.

* The firm has 100,000 warrants outstanding all year with an exercise price of $25 per share.

* The average stock price for the period is $50.

A. 1,150,000
B. 1,100,000
C. 1,650,000
Answer: A

T AERTHEE, EAMRIEI I ECN 1,000,000, T FE AR AT RIS Y 10,000 *
10 = 100,000 JZEA7BE7E SR HBGIE By Sk B B 43 B (1-25/50) * 100,000 = 50,000, X[,
RIS HAER, HEMEE EPS IR %0 1,000,000 + 100,000 + 50,000 = 1,150,000.

4. Golden invested financial assets for $100,000 which is classified as held for trading securities
and fair value at year end is $90,000. What amounts should be recognized in income statement
and balance sheet about this investment?



Balance Sheet Income Statement

A.  $100,000 $10,000 unrealized loss

B.  $90,000 $10,000 unrealized loss

C.  $90,000 No gain or loss
Answer: B

A2 G VE R B R LA SEHHE HEAT Ja B2 BN, P DAPRAE 37 7 R (K e 4709890,000,  #F
AR 2 S AL 7 AR AR SEBLAR A T AR, Fr DR SEL9512£$10,000 22T A
AR . A AIERG, BB 060R IR &8N 1% 9890,000; C AL, RN S 14
B 7 ) R SE DA 2 BT AR R

5. Financial assets are measured at fair value except for:
A. trading securities.

B. available for sale securities.

C. held-to-maturity.

Answer: C

Fr 2 B A /2 UL amortized cost 7E R = iR _Lib &1 A B AR, BN S M4
il % 7 AT AT B 4 i TR PR AR A LA fair value THE.

6. The following information is available for a company:

Sales $60,000Dividends paid $3,000
COGS $25,000Decrease in bonds payable $800
Depreciation $2,000 |Increase in accounts receivable$3,500
Cash paid for operating expenses &$14,000Decrease in inventory $2,000
tax expense

INet income $19,000Decrease in accounts payable [$1,500

Which of the following statements is least likely accurate?
A. Cash flow from operating activities under the direct method is $17,000.
B. Cash flow from operating activities under the indirect method is $18,000.

C. Cash flow from operating activities remains the same whichever method is adopted.
Answer: A

A ANIEHE, HE#EE, CFO=$56,500 cash collections ($60,000sales -$3,500 increase in
receivables) -$24,500 cash paid to suppliers ($25,000 COGS - $2,000 decrease in inventory+
$1,500 decrease in payables)- $14,000 cash operating expenses & tax expense = $18,000;

B 1E#ff, Fla4%%, CFO=$19,000net income + $2,000 depreciation expense- $3,500 increase in
receivables + $2,000 decrease in inventory- $1,500 decrease in payables = $18,000;

C IEH, BEIEFIEMERAER CFO 45582 —FEm, MR R 2 RIME XA
MESE . A
#£%¢ CFO HEIEMMEETITT &

7. A company acquired an equipment by using funds raised recently from a loan provided by a
commercial bank. The event least likely resulted in:

>

an increase in cash from financing activity.

B. adecrease in cash from investing activity.

9

a decrease in cash from operating activity.



Answer: C

C AW, AW FATAMEE TGS, 8 C AT &R,
A IE, DRSS S LN, & BRI
B IE#f, MSRB A& 2R B G S I BT AT H , GE BONE RFEIC.

8. Regarding DuPont analysis, which of the following statements is most likely correct?

A. ROE can be broken down to three components: net profit margin, fixed assets turnover and
financial leverage ratio.

w

ROE equals return on assets multiply financial leverage ratio.

9

DuPont decomposition is tax burden ratioxinterest burden ratioxgross profit marginxtotal assets
turnoverxfinancial leverage ratio.

9. Johnson, an equity analyst, wants to learn Caterpillar Inc.’s operation profitability and gathers
some financial data shown below:
($ in millions) 2017 2016

Revenue $3,290$2,595
Operating income|1,980 |1,400
EBIT 1,960 (1,385

Interest expense (710 610
Tax expense 200|170
Total equity 3,450 2,985
Total liabilities 33,750(30,630
Caterpillar Inc.’s return on assets for 2017 is closest to: \

A. 2.97%
B. 2.82%
C. 5.54%
Answer: A

Return on assets = NI/ Average of assets

NI = EBIT - interest expense — tax expense = $1960 - 710 - 200 = $1,050

Average of assets = (beginning total assets + ending total assets)/2

Total assets = total liabilities + total equity

FifLL, average of assets = [($2,985 + 30,630) + (3,450 + 33,750)]/2 = $35,408 ROA = $1,050 /
35,408 =2.97%

HB A C ANIER. B2 BECA BEROZ A B, AR 2017 FH ST,



10. Which of the following statement is most likely incorrect?

A. Under the LIFO inventory valuation method, COGS reflects the costs of the most recent
purchases.

B. In a decreasing price environment, the FIFO inventory cost method results in lower gross profit
compared to LIFO.

C. Both LIFO and FIFO inventory method are allowed under both IFRS and U.S. GAAP.

Answer: C

EFRAER RAFIFER LIFO;

ARFERR, BAAGEHEHERREHANFRSHSEHE, SHNEENKENBEESRE
A COGS, PrLAE#sEHETHY COGS BRE reflects the costs of the most recent purchases;
BAKERR, RASHSH ARISTCHINFESHSEHE, TN TERIER T, 18X
FiEdtHi®, FRTHIERIREESHI COGS, FE{EAY gross profit,

11.

Company MG uses the LIFO inventory cost method under perpetual inventory system and
records its inventory as follow:

Beginning inventory, May 1: 4,000 units, ($8/unit)
May 4: Purchase of 1,600 units, ($6/unit)

May 10: Sale of 2,200 units, ($8/unit)

May 21: Purchase of 2,800 units, ($7/unit)

May 29: Sale of 2,500 units, ($9/unit)

The company's ending inventory in May 31 is:

A. $29,300.

B. $25,000.

C. $29,600.

Answer: A

1282 FH T, units purchased and sold are recorded in inventory in the order that the purchases
and sales occur, BHE—RFHEEE—IX COGS, T THNFEMNEMKABE Eending
inventory M, Ending inventory = 3,400 * $8 + 300 * $7 = $29,300,

B ARIEfa, EA B RIS EHi%, Ending inventory = 900 * $6 + 2,800 * $7 = $25,000,

C AIEf, &9 C FRYEBEIEFHI, Ending inventory = 3,700 * $8 = $29,600,

12. Regarding the impairment under [FRS and US GAAP, which of the following statements is

accurate?

A. A long-lived asset reclassified as held for sale from held for use need not do the impairment test
when reclassified.

B. Under US GAAP, assessing recoverability of a long-lived asset is separate from calculating the
impairment loss.

C. Under US IFRS, the loss can be reversed if the value of the impaired asset recovers in the future
with no limitation.

Answer: B

5% VR DN R A A B IR T H S0 B kAT . 55— D OR BT B a3 PR e
RI T pfEL  BEAROR P 2R M D i Eedb AT W s 28 B NI B R E BRI T R B
R T OB 5 e Fe M2 225k 15 . IS RE RO RAAH TR AT

A
C

ANTER, KB B B R R AR, R A A R s AT A
AW, AEEBRENS, OMEIRI R DAL R], (E L [n] G A0 DL 22 A ek



14.

TEAR R NIR
HEPE: 5

13. At the beginning of last year, Riso Company purchased a production line for $80,000 for
making toys, which are their star products. According to previous experience, Riso Company
estimated that the production line was able to produce a maximum of 500,000 toys and that the
production line could be used for eight years with no residual value. At the end of last year, the
company actually produced 30,000 toys. Assume Riso Company uses units-of-production
depreciation method to measure its fixed assets, the depreciation expense for the line in the last

year was:
A. $4,800
B. $8,000
C. $16,000
Answer: A

BT ZA & R =83k 84 1IH, Rk IH 2% H=30,000 x ($80,000 - $0) / 500,000=$4,800. B
ANIEW . ZIETAIHT IH 2% F JE 7 8 7 R B2k 3 IHVE R i SRS U, &=, %

H /
H o

MEE: 5

Delta company presents its financial information of year 20X6 and 20X7:

End of Year of 20X7[End of Year 20X6
Deferred tax liability300 200
Deferred tax'asset 240 . 190
statutory tax rate(%) 25 25

If the statutory tax rate increase to 30% since year-of 20X8, what will be the impact on the tax

expense?

A. The tax expenses will increase because the amount of increase in DTL is greater than that of
DTA.

B. The tax ‘expenses will decrease because the amount of increase in DTL is greater than that of
DTA.

C. The tax expenses will decrease because the end balance of DTL is greater than that of DTA.

Answer: A

A HEIIERG. H tax expense=current tax payable+tADTL-ADTA, A HADTL=100, ADTA=50
, RIADTL KTADTA, FUHHEZ EFHE, X tax expense {5210 /& increase.
BC 1&g, JREAE F.

15. Atthe end of year 1, GG company’s disclosed earning before tax was $200,000 and the
respective taxable income amounts to $150,000. The difference occurred as a result of the
allowance for bad debt, which is not deductible for tax purpose. Assume GG's current tax rate
is 25% and the newly enacted tax rate will be 30%. Regarding the income statement for the first
year, what amount of current tax payable should be reported?

A. $37,500
B. $45,000
C. $60,000
Answer: A

A JETIIEHf. current tax payable= taxable income* current tax rate=150,000%*25%= 37,500



B A IERf. BT T taxable income*enact tax rate=150,000%30%= 45,000
C A IER. CIETIH T EBT*enact tax rate=200,000%*25%= 60,000

16. ABC company issued a 8% semi-annual bond with 5 years to maturity. The yield to maturity at
issuance is 10% per annum. If the bond’s face value is $1000, the first year end market interest
rate is 8% per annum, which of the following statement is correct regarding the bond’s liability
at the end of the first year?

A. The bond’s book value is $1000
B. The bond’s book value is $935
C. The bond’s book value is $937

Answer: B

DRI OMEL,  HE AR ST 3R S5 THME AL AT I B R R Il kg o Al P A
—, FTARRICER B 40, AR 5%, —FEZ )5, BRI EERPE0E 8. #itH
015 PV =935 (PMT =40, I/Y=5,N=8, FV=1000, CPT PV =935)

17. Which of the following may cause overestimation of profit?
A. Recognizing expense expenditures that should be capitalized.
B. Not recognizing impairment loss for obsolete assets.

C. Reducing residual value for depreciation purposes.

Answer: B

XFFIRFF B AR 2 AR T, BEm sl Al . A AN IER, BUOSREA R BT S 3%
I ARG AL . C ANIER, USRI IHEAE S0 IS AT, BE ARG A o

MEFE: 5
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1. Which of the following is the most accurate statement about stakeholder theory?

A. The stakeholder theory holds that purpose of existence of company is to maximize the interests
of the shareholders.

B. Compared to shareholder theory, stakeholder theory broadens interests of only shareholders to
various groups who have interests in the company.

C. The stakeholder group include shareholders, board of directors, and creditors in total.

Answer: B

B ETIER . et Pl o KALER (stakeholder theory) 58 AR F i KALER R (
shareholder theory) ALY, ¥45 A FEAHKHI ST NR ARG EBHE LT HRRY KB TAES
AF R RIS TT -

A JETUASTER, R ()R 2 i A5 R i de KA EE 12 (shareholder theory) , T A2 F i AH
K H an i RALHIE  (stakeholder theory)

CIETUAIERf, F 76 Ao a6 i KA EE S (stakeholder theory) HHHAH I T AMY S C
IR . EEEMEAN, ARG Emms, N, BUFE.

2. Which of the following costs associated with capital budgeting is a critical consideration but
should not be included in forecasted projects’ cash flow?

A. Financing cost.
B. Opportunity cost.
C. Sunk cost.

Answer: A

A 1B, BB AR AN E BN ERER, HRNIZEAN cost of capital W, 1A 2% FEAE
T H B g

B ANIER, Hlas A R 25 B AE I H Bl s

C ANIEH, VIBURAANRLZBAE I E g, AR P EERHER K.

3. Alvaro Manufacturing is analyzing the earnings potential of an expansion into military
equipment supplies. The expansion requires a $200,000 initial investment in return for $60,000
annual after-tax cash inflows for consecutive five years. Assume the cost of capital is 10%.
Which of the following conclusions regarding the expansion is most likely correct?

NPV IRR Decision
A) 227,447.21 16.7% Accept
B) 227,447.21 16.7% Reject
C) 27,447.21 15.24% Accept
Answer: C

C IEHf, AR4ETH &R 152 CF0=-200,000, C01=60,000, F01=5, I=10,
CPT—-NPV=27,447.21, IRR=15.24%; MRIFITHLER, ZIH NPV HIE, IRR KT HARK
K, WNZEE

AB ANIEHf, THESERA B,



4. Based on the following information:

DebtiCommon equity|Preferred stock]
Book value ($ ‘000) 400 500 100
Market value ($ ‘000)450 (1200 150
Cost of capital 8% 112% 10%
Marginal tax rate 30%

What is ABC’s weighted average cost of capital?

A. 10.24%
B. 10.83%
C. 9.24%
Answer: A

T WACCH, MEHEARIETTIAMER €, G5 HBUE A, Frbl WACC=120111/
(12004450 +150)x12% 41500 /(1200 +450 +150)x 1[1%+ 4511/(12010) +5

157) X M% (1 — 311%) = 10124%. B AIEH, FONTHEGSS BOARRE, A 8BS A

C ANIER, PN RS N8 A2 K T A

5.  Golden Mining paid a dividend of $3.50 this year, has payout ratio of 40% and return on equity
of 15%, and its stock price is $32.50. The cost of equity for Golden is closest to:

A. 19.77%
B. 20.74%
C. 17.42%

Answer: B

¢ = ROE x (1 - payout ratio) = 15% x (1 - 40%) = 9%, K = (D1 / P) + g = [$3.5 x (1 + 9%) / $32.5]
+9% =20.74%; A AIEH, BUOMBAAH 2 AEABR] (Do) AR T —ER A (DD ;
C AIEHE, PRNMEK R o i EAR, g=ROE x payout ratio = 15%x40% = 6%, B 541 5H

HR.

6. When considering the relationship between tax rate and WACC, other factors kept constant,

which of following is most correct?

A. The higher the tax rate, the higher the WACC.
B. The higher the tax rate, the lower the WACC.
C. The higher the tax rate, the same the WACC.

Answer: B

*E?E/L\\ﬁ WACC:WdXKdX(l't)+ WstKps+ WeexXKees :/H\:/ﬁﬂ%/ﬁ:z:/ﬁ E‘]'[‘%%T ’ %*ﬁ%iﬂﬁﬂ- ’
AL A A BRI B 2 WACC [ A R IE, FOY WACC S RRMAZHE H; C ANIE

i, By WACC & BRI AR RIF AL .

create unnecessary financial costs.

0w p

Answer: B

FRAfT -

benefit creditors at the expense of owners.

enlarge the magnitude of both earnings and losses.

Use of fixed costs is referred to as leverage because fixed costs:



AT (Leverage) HIE MIBEIEMARABMK T EUHWEERFMEESTRENIZE; T
BATH SRR REBMAME (CFAThS B HHIEIEATAT LM R ER) -

AMAEBE: BERAFFEMZRANELHREREERNAAARIATNER; 3
o, MBBARBRLEZALER (unnecessary) -
Cli: BIEMAHIELUMERBEANRNKEGINAZE, AENFIEHIETEHPRIIX

; EARIZERFNEBERT, GHEAERGARRE, MAERMEZZEANIF RITE.
8. Below presents a company’s operating data for two fiscal years:
2017 2016
Units of products sold (in 13,500 12,100
units)
Sales price per unit ($) 75 63
Operating profit ($) 264,600 224,790
Net income ($) 71,442 64,070

Based only on the information above, the company’s 2017 degree of operating
leverage (DOL) and degree of financial leverage (DFL), respectively, are:

DOL DFL
A. 0.54 0.65
B. 1.53 0.60
C. 1.53 0.65
Answer: C
FRHT

ZBRDOLFMDFLAXKIE X RITE.

DOL = Operating profitBd & 43 EE 2 4k./Units soldBI B 9L T H, KAEIES: DOL =
[(264,600/224,790) — 11/[(13,500/12,100) — 1] = 1.53.
DFL = Net incomefY & 43 L T {/Operating profitl B 7 EE X, KANEIES: DFL =
[(71,442/64,070) — 17/[(264,600/224.790) — 1] = 0.65.

9.

A. operating cycle.

B. net operating cycle.

C. number of days of payables.
Answer: C

INEAS UK ¢ Fo) e < K B b AR L 3 7 e Ak T BT A P (Y e 7

Which of the following measures the period that a company takes to pay its suppliers?

10. Jackson, an analyst, gathered the following data from Fog Company’s financial report.

2016 2017

Sales on credit $16 million $20 million
Purchase on credit $4 million $6 million
Cost of goods sold $2 million $7million
Accounts receivable $6 million $8 million
Inventory $5 million

Inventory purchase $3 million $4 million
Accounts payable $2 million $6 million

The company’s cash conversion cycle in 2017 is closest to:

A. 67 days.



B. 298 days.
C. 310 days.

Answer: A

I N K 2 R H=3.6 5135 RSO 3R R B I A=365%  ($6 million+$8 million) /2/$20
million=127.75 (k)

B R A7 T = BA W) A7 1% + & B A7 1% R W - 85 1% 5 4% =$5 million+$4 million-
$7million=%$2million

18 3 R B=365% PR/ 5 52 AR =365% ( $5 million+$2 million ) /2/$7million=182.5 (
)

AR 3 B R =365 %1 X5 WA K R/ ) 4 51=3 65 ($2 million+$6 million)
/2/$6million=243.33 (K)

DRI L, 30 1 A ) =7 A K 3k Jo 2 R -7 ¢ o B R - N A T ) e R %0=127.75 K+182.5
K-243.33 k=67 (K)
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1. The uncertainty on whether borrowers can make promised payments on their debt obligations
or not is best described as:

A. liquidity risk
B. default risk
C. market risk

Answer: B

ERSRETR, MRESANREEER, RNAENRIRELIXEE, ELIXE I ERXRE
XIFXE, %

B, A BRNEXBG, ERERBASMISRIELL MEIXRE. C EhiaXbe, ER~
ARSI R ENRIXUBS

2. Which of the following statements is incorrect about risk budgeting?

A. Risk budgeting provides a more detailed plan about how the risk should be taken.

B. Risk budgeting guides the implementation of the board’s risk appetite decision.

C. Risk budgeting can be applied to business management but not to portfolio management.
Answer: C

NESTREERTFEWEBHERTRRESERE, FILAC #IAEIR, XIEED AMAE
7, FRORESSRENARE, o REEERMNKRTE, XCHMEREER
SHERRNZHE, BESaIRERBSZ DN, ATIB #RIEHR.

3. According to Markowitz’s theory, the points on the efficient frontier represent the portfolios
which provide:

A. the lowest risk and highest return compared with all of the other attainable portfolios.
B. maximum diversification benefits among risk assets.

C. the cheapest construction cost and the most efficient choice.
Answer: B
BELE ERRRIEMEI 2o E 2 BRIEFES, BtREEE— M MEKFELEX

[ERAR, ME—IMXKKFELWERS, ATLLAER. BREE LNRARRTSERIEAHE
ZERA, CIEiR

4. A risk-neutral investor has the following features except that:

A. the indifference curve of the investor is horizontal.

B. the investor only cares about the risk of investments.

C. the investor only cares about the expected return when making investments.
Answer: B

MG MEAHRRE RRERE WG, MEEXEEKTE, X{ESth
RIFCE S HZ R K TRY, '—%mmEGQ,‘\\%{mgjzaﬁ@¢&$7x$ (J"Lﬁﬁjjﬂ) FELJ\ZISEB
LRYfEATEIR, A C fEIAIER.




5. According to the following information of two stocks:

The standard deviation of stock A 19.4%
The standard deviation of stock B 17.2%
The expected return of stock A 9.6%
The expected return of stock B 7.8%
The correlation coefficient between stock A and B|0.76

What is the covariance between the two stocks’ returns?

A. 0.0254
B. 0.0507
C. 0.0057
Answer: A

i ERIERITEITREN:
#_ (AB =papasas = 017} x 01194 x 01172 = 010254
EI0 B $HiR. £ AR ESRT 2, BESHENTEAESET.
EIR C 48R, R TREREEUREANTAR: £ (AB = pasRaRs = U7 x D109 x D107 = (1157

6. A consultant selects the following portfolios.

Portfolio Expected Return Standard Deviation
Alpha 14% 6%
Beta 17% ; 10%
Gamma 22% 15%

And he is sure that one of his clients shows the risk aversion coefficient A=2. Which portfolio will
the consultant most likely recommend for this client, according to the application of Utility Theory?

A. Alpha
B. Beta
C. Gamma

Answer: C
B=1EERIWEFIXEAHED BIRAARE AN EFE, URP—NMEST LSRR
KEABE.

284 Alpha: Utility = ERy— 1Aa® = 14% —1x2x % )2 = [113X4
2 2

#8& Beta: Utility = ERy —1Aa2 =17% - 1x2x (1[%)2 = [O11¥
2 2
2B& Gamma: Utility = E(R) —1Aa® =22% —1x2x (‘15% )2 = 11975
2 2
RRERAE Gamma X TFIXUEFPRIIARERAR. HU%EC,

7. There is a portfolio with the expected return of 8% and the standard deviation of 13%. When
the risk aversion coefficient changing from 4 to 5, the amount of change in utility is closest to:

A. -0.0169
B. -0.0650
C. -0.0084

Answer: C



BAEEC: Utility=ER T 1)Aa2_
2
A=4 BF: Utility = %% — Ix4x (13%)? = (104%2

A=5BF: Utility = %% — Lx5x (13%)? = JI037X

BrLAAUtility = O1037M — D104M2 =— 10 ON4

8. There are two comments about the indifference curve and the efficient frontier:
Comment 1: With risk getting higher, a risk-averse investor requires higher return compensation.

Comment 2: The efficient frontier is convex, which shows that a larger increase in the portfolio’s
expected return is offered as the risk increases. Are the two comments correct?

A. Yes.
B. No, only Comment 1 is correct.
C. No, only Comment 2 is correct.

Answer: B

XSG RER R ERNLTERMER SN, FEMIESESIVN—RUNEIEXRESHN
BPRERR, (EXFIEMNEMEIGEX, BRANGHHERMZSHN, tMEoEE%E
A, MEAEXKRAIEX, BEKEARMERKIEE AT, FTLl Comment 1 1EHS,
Comment 2 (1R, 1%& B

9. The slope of the security market line (SML) and the risk reflected by the CAPM model are:

Slope Risk attributable
A. Market risk premium total risk
B. Excess market return market risk
C. Sharpe ratio total risk
Answer: B

SML HIRIZRATHIHHESHIZIMIES B Ry -Ri,  CAPM SHAEFHiE [MiRER LS E T HiH
MG ME—RINEEF, AEEBEFIREXE, FTUAARNEKEE HME,
1%B, B4h, TIFEINKES (excess market return) FOMIAXIBEET (market risk premium) 2
FTEFMAIR.

10. The most suitable case of client’s willingness to take risks rather than the ability to take risks is:
A. The client owns two pension plans separately from his employer and the government.
B. The client is young and will retire in 25 years.

C. The client pays more attention to the safety of principal rather than earning potential gains.

Answer: C

BEFINEAZEREEW T, TEAETEMABERERIRESNKE™ @, HE—
RIFRIBIF. IETAFIBIEIARIRE PRIZ XL RZEES.
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1. Which of the financial assets has the following characteristics?
® [t belongs to the pooled investment vehicles.
® Investors could sell their shares to other investors in the secondary market.
® [t is always traded at a discount to its NAV.

A. Open-end fund

B. Close-end fund

C. ETF

Answer: B
EAEHRTR T HREATNE S, HAEE, B CFrEm A it &%,

A, JFBGUIE SRR S B RTINS AR S i s al,  m s ss
AR Z NAV;

I B H, HAXEENMIIRFEAT, HEEE R TIHIAT AL, HZ 5 EE
f%F NAV;

I C H, ETF RGN 534, HEE T LLBIERE g i B8 T 355E,

2. Currently the best bid price and best ask price for the stock Priceline are $24.2 and $24.8. Which
of the following orders is at the status of “take the market™?

A. A limit buy order placed at $24.2
B. A limit buy order placed at $24.8
C. A limit buy order placed at $24.5

Answer: B

WRAZ 7 PR A /& take the market, BME —/ MR L RHELE H A2 (bestask) , BY
F— IR S HEETE H T B E LA (best bid) o &I A XN R A A make the market; &I
C XN IR A N make a new market.

3. Aninvestor buys Lowe’s stock on margin at $15 per share. The initial margin requirement and
maintenance margin requirements are 40% and 30%. The margin call price is closest to:

A. §$12.86

B. $13.86
C. $14.86
Answer: A

A margin call FIARN P = Po*(1-IM)/(1-MM) = $15%(1-40%)/(1-30%)=$12.86

4. The price return of the portfolio using equal-weighting method is closest to:
StockBeginning PricelEnd pricef# of sharesDividends
A |14 12 500 2 per share
B [33 38 300 1.2 per share
CcC P28 30 700 1.5 per share
D P4 20 700 2.5 per share

A. -2.0%
B. -2.2%



C. -2.4%
Answer: B

SERCEILTHENAR IR, wE T FAREN 5 B B R W R R AR [ (12/14-
D) + (38/33-1) + (30/28-1) + (20/24-1) 1/4=-22%

5. Which of the following factors has the largest impact on the index value based on the market-
capitalization weighted method?

A. Stock price
B. Numbers of shares outstanding
C. Stock price and numbers of shares outstanding

Answer: C

FEMAT AR T LA, oM T (R, R SO OB 0 5 Ko BERITHAETTS

BRI A e LR BEAS, FTLAGETI A FIETH B #Ai% - AN,
N N //\/>
6. Which of the following is not useful functions of se&urib/ market indices fqr an active
investment manager? LN > \ 0
h % / / & \>

. D N >
A. To calculate beta and measure market sentiment AN &\ Y
Y

B. To be performance benchmark and to modél\iﬁclex hortfolio AN
C. To calculate expected returns and risk-adjl.{?st\gﬂ{éturns o

4 ) D %
/ // \\ K = 7
Answer: B 4 /,/’/N N //\\
y o/ O\ 0

ARG BRI, AR A NE & (AR BT R RIEL, i
LB AU %, BT TR h 3 5 00 %, THETI B h, R AR
wﬁ%%ﬁmﬁ%&@ﬁwigﬁﬁﬂﬁ%a

7. Which of the following regarding the strong form of the efficient market hypothesis (EMH) is
most likely correct? -

A. The stock price reﬂééts, /privgte information only
B. The stock price reﬂ'eC}é public and private information only

C. The stock pricereflects public, historical and private information
Answer: C

EEES RN A AR RS S R D X Nl S Ry G B E S Rl R R SR R S I V1
T PSR R ATHER LA NEE R

8.  Which of the following statements is most accurate regarding the market anomalies?

A. The stocks with above-average P/E ratios have consistently outperformed the stocks with
below-average P/E ratios.

B. The large market-cap stocks have consistently outperformed the small market -cap stocks.
C. Close-end funds usually trade at a discount from NAV.

Answer: C

A ETA R R, P/E BUR A BRI, P/E BURKI A ® v, 45 value effect,
BRI R 2> RS AL T R

B EIURIRE R, MRS size effect, /NELBHIRIL S HFERHE T KA .

dof A AU 0 HOAE S0 RS AR T 5 NAV #E — A, BT iima iR



9. An investor heard that many of his friends bought a small-cap stock XXX. He then bought 1,000
shares without thinking. He most likely exhibits:

A. Information cascades

B. Herding behavior

C. Narrow framing

Answer: B

B I FHERN, B E E MRS ENRIEE, ZABIERAT .

A ETHRE BEAT, 5 B IRIEARE /159 9 N ERBEAE B IRE AN RE /79BN 25 K321, 2Pk
74,

C WLIHEHELLRON, X [Fl— AR S, BRI AT SANE], 27 AN A SR H A

10. There are three types of common shares issued by the same company in the market. Which of
the following shares has the lowest risk for the investors?

A. The common shares.

B. The callable common shares.

C. The putable common shares.

Answer: C

Callable common shares #& 1] 5L [0, Fi8 AT A A4 DAL 8 R 1a) #5578 38 2 SR K [ 15 22
PIRUR] . XX AT AR, X5 FH AR FK

Putable common shares #& 1] Sz [AI 3538 i, $8 3% 9835 PG DALY @ A 1) B AT O w) 23R Sz A 15 22
IR XX FE AR, KA F AR FK

ML 2 BT T [ ) RS f3 P25 FE,  Callable common shares>Common shares>Putable common
shares

11. Which of the following types of preference shares most likely entitles shareholders to convert
their shares into a specified number of common shares?
A. Participating preference share.
B. Convertible preference share.

C. Cumulative preference share.

Answer: B

Convertible preference share =248 W FHAR G,  FovF Al LA Je IRF A7 3 LAY E LR AL

IS JBE A3 e 45 RS T B A7

A %, Participating preference share s2 52 5N, £ 5 M0 IR ZRAE 52 8 7€ 7341
B3 O /NI R L1 < OIS V1R S N S < R S N A W

C #%1%, Cumulative preference share &8 RiFLJeM, WAL ZJUFERE B4, EARFG

ey, B RSB R AT LORAS ZB LR 7 24, 2 SRR AR B oAt e I 2R, 4R
Ji5 P 3 IR



12. A portfolio manager is designated to vote in the board election on behalf of his clients. Which of
the following voting systems is a best fit for this situation?
A. Proxy voting.

B. Statutory voting.
C. Each class of shares offers different ownership rights.

Answer: A

ReRBZE P RRLESMARRE, KR TRITREEEE.

B IETHRIEE RS, IOARBEEN A — A — EHHREER

C kTR R AFE, EiiA RS A PR E T, & B S A AR
AL

13. Consumer staple is most likely sorted in which of the following types of industry?
A. Defensive

B. Growth
C. Cyclical
Answer: A

Defensive industry ;2 8P AAT MY, XAMTIE A XS *%EE’JW%%;X I Consumer staple
industry JEFRVH P W A, HELHTE ST, BFEES. HAHRSE, 25T
BURFERAC, FRAE R, B E T B2 4rll, ik A

14. Which of the following factors implies a more intense industry competition?
A. An industry has high barriers to entry.
B. Customers can easily switch to other similar products.
C. An industry provides differentiated products.

Answer: B

H B8 TR LA

A ET, FENTIREE R4 (Threat of entry) , A7)V 5% FFE K .

B kIl AT FEIZER e n AR R, AR TG, AT SE SRR AR (Threat
of

substitutes) o

Cifeil, FEFRMAEA W EATIE, AT FEEERIC (Rivalry among existing competitors
) .

15. According to the industry life cycle, high prices, high risk of failure and substantial investment
are most likely to be the characteristics of:

A. Growth stage
B. Mature stage
C. Embryonic stage

Answer: C

7t Embryonic stage, M/ FEEHE ZHTHAHRN, RUES= SR BT T B, 1 2
FX A TR, SE R TREE R R . FIR, BT R, SEERD, AT RIS
5, PRI A kR E

7E Growth stage, &M RS EAK, A WAAXBAK, FHE A H#iR.

7E Mature stage, WAt E, TS 5E RGN, &SN RAL, Ktk B4,

o



16. A utility company is most likely characterized as a:
A. Cyclical company

B. Defensive company

C. Growth company

Answer: B

Utility 2524 3k, SRR . 2 AT L2 T WA WD, &+
AL A R B AR AT

17. Based on the following information, the current value per share of the company is closest to:

Dividend per share this year $2.4

Expected dividend growth in year 1 20%

Expected dividend growth in year 2 15%

Expected stock value in year 2 $36

Investors’ required rate of return 11%
A. $31.61
B. $34.05
C. §$34.50
Answer: C

V= D, + D2 + P2
Col4+x A+ A+ 32
$214 x (1+20%)  $214x (1+20%) x (1+ 15%) $3M
T 1+ 11% (1+ 11%)? (1+ 11%)?

= $3415



18. Based on the following information, calculate the justified forward P/E:

Estimated ROE 12%
Estimated retention ratio 70%
Required rate of return 14%

A. 2.88x

B. 12.5x

C. 5.36x

Answer: C

® iI-% dividend payout ratio: Dividend payout ratio = 1-Retention ratio = 1-70%=30%

® il growth rate: g = ROE x Retention ratio =12% x 70% = 8.4%,

® |5 justified forward P/E: e / ,
1 1 N

P- == D N . WAV o Y
E1l El E1 = —7\\ \\\ 14% = MM—O \ 3
v \\ \v k &\ // >

N \V
19. Which of the following statements least*accura{ay descrlbeséh&&vsset based valuation?

A. Asset-based model assumes that eq;nty me can be estimated by the difference between the
fair value of asset and the fair Valﬁ%){l ab ity. 7/ '\\

B. Asset-based model 1S 1nappr9p /cite for chmpames ﬁ&\(yﬁg lots of intangible assets or financial
companies. '

C. Asset-based model is approprlate for Valulng ﬁmfs approachmg liquidation.

AL

Biﬁlﬁﬁtﬁi%; assyé’t“l‘)\asedmodel ANEHTA RELEE WA R E, H2amall

Answer: B

ﬁﬁ#ﬁﬁﬁ*%ﬁiiﬁ SR A AL Gk & v, FikiE & Hasset-
based model KAt {H
A IRTR A EM, asset-based model fdi{E "+, Market value of equity = market value of assets —

market value of liabilities.’
C IETRAR IEH, 5 ﬁ/\ﬂéﬁiﬁﬁﬂ??ﬁﬁ, asset-based model f¢
SEMAEE

LA NCTE 2 S N

20. Stock A is currently traded at $28. The expected dividend next year is $2 per share and the
sustainable growth rate is 6%. Based on the Gordon Growth Model, the implied required return
is closest to:

A. 13.14%
B. 13.57%
C. 1427%
Answer: A

4 GGM, Pe=Di/(r-g). C%1 Py, D1, g, fEGTFERT LR 1o
2

2% =
2 — X%

R =13.14%
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1. A bond issued by the World Bank can be best described as a:
A. company bond.

B. supranational bond.

C. sovereign bond.

Answer: B
ARAE B[RS issuer EAMES, The World Bank J&F supranational organization,

2. Regarding putable bonds, which of the followings is incorrect?
A. The put provision is beneficial to the issuers.
B. Compared with equivalent non-putable bonds, putable bonds will offer a lower yield.

C. The bondholders could sell the bond back to the issuer at a pre-determined price on specified
dates.

Answer: A

ARRZEE putable bonds FIEAELE,

A EESE SHNFIE T =588 A (bondholder), BITEfRSRIEAZ B, 1B ATTLURRTE
REZAERITA. EFEEAIHREASITEMAF, XERALIHESE AR LB ERE
REREAINEAE, UESHFRERESRY, WHEER, FLARSRERESEEFEF TR
HFREAN. BTHSFIHGEABH, FIUAENEHEREMNATRERSNNES, &
FRIG T AR B RAISEER,

3. Which of the following bonds can be described as domestic bonds?
A. China Vanke Co. issued a RMB-denominated bond in China.

B. Apple Inc. issued a RMB-denominated bond in China.

C. Microsoft Corporation issued a euro-denominated bond in China.

Answer: A

NAEERRHIAHEREGHIERS.

EMf&R55(domestic bonds)BTAM{R35(National bonds), HAITHE, RITA. RITEM=E
—5. B EIEIMNERSS(foreign bonds), EARITHSAITERM—, BRITASRIRER—
5 CIEEIRERMERSS (Eurobonds), EARITHISRITERMA—HE, MWERITATEK. £FFA
EIMEFEEWAREFERITHIARBIRMBYEEERIAE MR35 (domestic bonds),

4. Which of the following provisions least likely incurs a reinvestment risk to investors?
A. Conversion provision.

B. Sinking fund provision.

C. Call provision.

Answer: A

AEREE reinvestment risk EAHES:,
B &I : sinking fund provision BXRI{REKITHERSFEEPREHRAERES D AT, X



THRILBHEAIT AR AR AR SRINGE, RIFHEERAXEGE, A, REERRKER
AEFEHTHRE, BRAWGFAIREL AL GEE, AIFEBRENE;
Citll: AIERGRSFESIMAIBTREAITA, BERSREIHIZA], RITATLURRIEER
ERMEEPD R, AT AREREIEEASAINA, ERETENIMRAITASITREILNR
F, BALRAITAERRSREBIARRNFRE A GRIE, NMEERERE. B

2 RZENSEIRERENGE, RATTEHETRET, BREEREETHRIERI RS
RYEHRE;

A BN ATREIR{RIFAY conversion provision I FAREFIFA AEERFA RGN AITAER
ZRINA, SBRBNKLTX.

5. Eric, CFA, considers a convertible bond with a par value of $1000 and it is currently traded at
$1050. The conversion value is equal to the conversion ratio times the underlying share price. If
the conversion ratio is 20, which of the following underlying share prices would most likely
prompt the bondholder to convert the bond into the common shares?

A. $50
B. $52
C. 855
Answer: C

ABREEALIRMREFNENEDS. SAERMRSFREIRMMER TR RS HIHINMERRT
&, REEERGIRIREFERNTERRELTATDNSER. SRREDN 55
RS, SN E-AEHRELAIRAURR R =20*55=1100, KT AIEER{EREETHIBINE 1050,

6. Bond X and Bond Y were issued 6 months ago and will mature in 6 months and 18 months,
respectively. Which of the followings is correct?

A. Bond X is amoney market security.
B. Bond Y is a money market security.

C. Both Bond X and Bond Y are money market securities.

Answer: A

NREEFFREHIR 2 ENEREE.

Bond X #] Bond Y #B2 6 TABIKRITHY, {B2Z Bond X K3k 6 NHWIEEIEA, FRLAERIAE!
HABT &) (original maturity))9 1 88, BF MU (money market security), Bond Y i&F 18
MNBEIEE, FRLAUBF & A4 RS (capital market security),

7. With regard to a repurchase agreement, which of the followings would result in a lower haircut?
A. The longer repo term.

B. The high demand or low supply of the collateral security.

C. The lower credit quality of the collateral security.

Answer: B

AEEEEMY (repurchase agreement) EAHELS,
[BIg471 2= (repo margin/haircut) ZEEIWPIESNHIHNMES HAINMEZENEE, BATE
XIHHRESMMER—FT0TE, FLANIHERR RIS AN —EHESER R ME




T, WG AREHIEEER S AR EROERWRSFNING. B, IBFABBEFEESN
RIS, FrLAE S E R T—RERTHTI.

AR [EWEREGS, EMNMERA. EWHHK, SRXEA, AmEKREWNE#K;

B %I HEFMIESSHRREA, EWMENE. miatEFsIRERA, RBZIEESIIRER
BRK, #MAINME, AmEWHEHRIE;

Ciftli: RMEFERRENRE, MWhERS. ERREME, IBFELIXEEA, M
MEKEE T ZEK,

8.  With regard to the repurchase agreements, which of the following statements is most accurate?
A. The repo rate is higher when the repo term is shorter.

B. The haircut is higher when the credit quality of the borrower is higher.

C. The repo margin is lower when the repo term is shorter.

Answer: C

AREEREHMY (repurchase agreement) RS,

AJEIN: [EIWHARRAE, EIWFIFRER. EAMRE, JIEERARABAMIT, BIWFIZEH
%

BIEIN: BERAS(ERA GRS, EWNEME. MESERNE, ANUEMEEIERY
TSRS ERXEME, MM XIHHRIESF TS TNHMERIE;

CiEn: EMHREAE, EIWMNMES/). BIWHE, SRXE/I, MWMEKNEMHZESN,

9. Comparing weighted average coupon rate with pass-through rate, the former tend to be:
A. lower.

B. the same.

C. higher.

Answer: C

Pass-through rate 2R REWEIVESZR, weighted average coupon rate (WAC) REF-HE
WRAZRAINITEE, Pass-through rate b, WAC /), EEREEEENIRIRS ZFISIEZS

o

10. Because many commercial mortgage-backed securities (CMBS) are partial amortized, the
CMBS investors may face:

A. liquidity risk.
B. contraction risk.
C. balloon risk.

Answer: C

REEEESBRXE.
T CMBS Z9#0#H, BIRE—HHIRETNAS ST, FLUREARIGESEKX
b, tBIEREARETTERIHMEIRINE.

11. It is an advantage for a borrower if the mortgage loan:



A. isarecourse loan.
B. has a prepayment option.

C. has a prepayment penalty provision.

Answer: B

AEEERER ‘?”EI‘J%?E

I A BIEFENGER, EERAELR, BT ILUSIKRmRESZEZI, BT LA EERETR

AREER, Jtl:i(j‘%}‘)’U\NFU'

1 B IRRIASAESER AT LUEERRTIE RS M AR, BANEKEAT LIS

SRR TRFOIERARIRSHT;

I C: IRAIAFTI S RISREAERSZ LT, FEHN—ERTIE, WEMILURPR
AARIRRIATKXBE .

12. If a mortgage pass-through security has a prepayment rate of 150 PSA, its prepayment speed is

A. lower than prepayment benchmark.
B. equal to prepayment benchmark.

C. higher than prepayment benchmark.

Answer: C
ARRIEE PSA, PSA EIER 100PSA, #FHWA, 1IRENEFRIEREMA,

13. According to the following information, which bond has the greatest duration?
BondMaturityCoupon rate

X B 5%
Y |10 5%
z |10 3%

A. Bond X.
B. BondY.
C. BondZ.

IFFREER: C

FEEREF M ARREE,
eI A BfttRAEE, BIREGSARREK, EIL Bond X 5Bond Y 4HEE, HERR Bond X;
eI B: Eeth4HER, RERMEARREK, Eittbond Y 5 Bond Z 18EL, HEFRBond Y.

14. John, a CFA candidate, recently bought a 10-year bond with a 3.5% YTM and a 4% coupon
rate. It is currently priced at 105. He predicts that the price will decrease to 98 when YTM rises
by 1%, and the price will increase to 114 when YTM declines by 1%. The approximate
modified duration of this bond is closest to:

A. 76.2
B. 7.62
C. 1524

Answer: B



AFERITMEIEARPRYITE, Modified duration= (114 - 98) / (2 x 105 x 0.01) =7.62
BEINA : (EUTEER.
BB : ~ATliREkR2,

15. An investment portfolio consists of two bonds, X and Y. X is a 10-year zero-coupon bond, Y is
a 10-year bond with a coupon rate of 10%. Given that the market interest rate increases by 10
bps, which of the followings is most accurate?

A. The price of bond X will increase, but bond Y will decrease.
B. Prices of both bonds will decrease, but bond X will decrease more.

C. Prices of both bonds will decrease, but bond Y will decrease more.

Answer: B

KEERAHMER.

AR : SRR BT, PIRMERSFRIMNTEER FFF;

BECEm: Efthf4AZE, EREMS, AR\, Eittbond X FIAHAAT bond YRIAHA
o AHBEK, FREFMMEXIFIRTIGEEUR, Fitbond XRUNME RIEES,

16. John and Angel, CFA candidates, are discussing the characteristics of convexity. Which of the
following conclusions is/are most accurate?
John: If the callable bond is more likely to be exercised, its convexity will tend to be negative.
Tony: Putable bonds typically have positive convexity.

A. Only for John.
B. Only for Tony.
C. Both John and Tony.

Answer: C

AR 2R O] IE(E) 5 A (B R AY R HRHE.

JohnZRIARTER: SHFSEMERS, AEEGRFEEEMHROE.

TonyZRIAIER: RS, JREFRHMIEENEANOE, BaIRERFNOE—R
AIE.

17. Expected loss is negatively related to:
A. default probability.

B. loss severity.

C. recovery rate.

Answer: C

ARERE expected loss 22T,
Expected loss= default probability* loss severity= default probability*(1- recovery rate), EIttSEA
ERARBERIZEER, EOMRMRAT BRI SHBRAIERX.

18. Which of the following statements correctly explains seniority ranking?
Statementl: In general, senior subordinated debt has a higher priority of claims than senior
unsecured debt.
Statement2: Priority of claims is not always absolute.



A. Statement 1.
B. Statement 2.

C. Both statement 1 and statement 2.

Answer: B

REESEIRF. EHE, senior unsecured debt BLFETF senior subordinated debt, {BE2{E
IRFAREN, SFRBER. FE. ATEALHE. FHMEEMRIMHULHIE N,

19. Which of the followings is not the component of yield spread?
A. Credit spread.

B. Market spread.

C. Liquidity premium.

Answer: B

AEEENERRL. FEREREREELAXMARSSHERHERIAELIXBG s
K&, TEHERNEREIRIERNDMK.

20. When analyzing sovereign debt, a major difference with analyzing corporate debt is that it is
important to consider:

A. economic condition.
B. the ability to pay.
C. the willingness to pay.

Answer: C

AEEEFNRE., BTENFRFHEOREHTEN, REBAEEERREEETEMI
ZISRY.
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1. An investor buys a put option on a stock with a strike price of $30. At expiration, the investor:
A. has a right to buy the stock at $30.

B. has a right to sell the stock at $30.

C. has an obligation to sell the stock at $30.

Answer: B
RREEHINRIEARMRR. Put option BIZLGHERBFILBATNIESEH underlying asset,

2. Which of the following statements is most correct?
A. Forward market contracts are customized and regulated.
B. Futures market contracts are standardized and have no default risk.

C. Forward market has greater liquidity than futures markets.

Answer: B

AEEBEARRZZHIHRESLIRRHE, ImHRSLIXINIAIIMNTI(OTC: customized, default
risk, unregulated, less transparent), Eﬁ&bé’g’ﬂijmiﬁP\]ﬁiii](Exchange—traded markets:
standardized, no default risk, regulated, transparent); 34, HEXIFIFIINGIZ, HATHIEHEL
S, ZTHEAXGHY, AmERaIESAKIEI,

3. Which of the following statements about forward and futures are most correct? Statement 1:
Both of them can be settled through delivery of the underlying asset. Statement 2: Forward
contracts can be used to create a perfect hedge, but futures cannot. Statement 3: Forward is
better than futures.

A. Statement 1 and Statement 2.
B. Statement 1 and Statement 3.
C. Statement 2 and Statement 3:

Answer: A

AREEE forward Sfutures ZFEF. KEXHFMEES5E BRI SHILLE.

A JEIR: statement 1, forward 5 futures EFR]UASKFASEYIAZE IRV S H 7455 statement

2 forward BEFIUHISZ, AILURBEERIRESHIFZALMTZEXNPXEG, T futures 245
EWRISEY, RESCHIXRTEXT

B, C&IU: statement 3, forward 5 futures FBIFR, ARNMIZSSEEAENER, N
MEtRESENEKEERSERMTER, FTUARBEERTAINS.

4. 1In a call option, the underlying stock is traded at $10, and the strike price is $12. The call option
is said to be:

A. in-the-money.
B. at-the-money.
C. out-of-the-money.

Answer: C

ARREE option B moneyness FUEAMEEE, XITF call option i, 24 St < X BY, WIRIZEPT



WA ZAESRINTE X ZLMEDS StIRE, BAKIERY, FTLALRTEISAE T EERE

(out-of-the-money),

5. In a call option, the underlying stock is traded at $10, and the strike price is $12. The call option
is said to be:

A. in-the-money.
B. at-the-money.

C. out-of-the-money.

Answer: C

ARREE option HY moneyness FYEAHEL R,
XFF call option 3K, = St< X Bf, NRIMZEMTAHERESRINIE X EZXLMES St B
=, BERNER, FrLALRTERR A FRE{EIRE (out-of-the-money),

6. Which of the following statements regards to swap is least correct?
A. A swap is a series of off-market forwards.
B. A swap is usually traded in an organized secondary market.

C. A swap is difficult to alter or terminate.

Answer: B

AERE swap NEATS,

AEIN: BECR ER—HRIIMERANANRL . FRART AR R —F S (off-market)iTii&
29, BIEIN: EMEMINHIARRH(0TC); CiEll: —AH, RTFEENIERER, mA
BEFUHNEYN, FRBRERELL, B—FH, Bin—iREAEESEWIEZ BT HXEHY
SHMTEH, FREIEELNHE, —RIAsELHEREL.,

7. With respect to an equity forward, which of the following statements is most accurate?
A. The value of an equity forward will not change over the life of the contract.
B. The price of an equity forward will not change over the life of the contract.

C. The value of an equity forward is equal to the price of the underlying equity.

Answer: B

REREENTER price H value BIXF!., EHSLIRNBESTEORNVENEENE, G2
BTEASTMN. THEORNESEERNZMENZUMEN, EES8iE
SRz SRS N EINEE.

8. It may be beneficial to early exercise American call option, if:
A. the underlying asset pays dividend during the life of the option.
B. it is in-the-money.

C. there is no cash flow during the life.

Answer: A

ABEE TSR UHIAIRI U AIX 5.
SRR AR, AT LA S AT DL KA SR MR T ER. INRIR



BRI, REANTIUSIRKRIENEENE, MU ERENERERERNER N, 7%
ERATIN, EREBPAWE T, MZIREHTN.

9. Using put-call parity, which of the following combinations is equivalent to a synthetic long put
position?

A. long asset, long call option, short bond.
B. short call option, long bond, long asset.
C. long call option, long bond, short asset.

Answer: C

AEETIEI put-call parity ATNEREBIN, RIBEATNp=c+X/(1 +1)' -8, FrLAED C
I,

10. An investor bought a call option which had an exercise price of $50 and the time to maturity is
one year. After three months, the price of the underlying asset is $45. The option premium is $2.
What is the payoff of this call option now?

A. $5

B. $0

C. -$%2
Answer: B

RAEEHANIpayoff, EREFMWEL T —MUTIMEISS0RIERIIN, HRA1E. =1A
LAEIZIRRIMNIE 845, (BETHE— T, MEINEES. T2 IRNE, TitE
payofffJAtH{®, premiumEAFTEITEENR, FEULZENBRIRout of the money AR T,
FrLApayoffi@max {0, S-X}=max {0,45-50}=0
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1. The following fee structure applies to a hedge fund:

Beginning-of-the-year AUM[$200 million

Management fee 2%
Based on ending-of-the-year AUM
20%

[ncentive fee Calculated independent of management fee]
Soft hurdle rate 7%

End-of-the-year AUM $212 million

Investor’s annual net return is closest to:

A. 2.68%
B. 3.88% ’
C. 3.46% 6« / \'
cA S )
Answer: B N, 7 /X/\ §
< S A ) D

/ N\ ;\ /
o IHEHYH: Annual management fee= Endmé Qf the- year AU 2% 212%2%=%$4.24

N
® IHHUIPRH: Return before adjusted for fe&s—2\12/200 1=6% <Soft hurdle rate 7%, FrLA

ANATUCE i, Incentive fee= 0 - \\ \ /a\\ NN\
® HIAEH: Retum= (212- 4.24) 20@ 1%188% é\\
/ D

2. Which of the following is least hkﬁfy a characterlst Qf\ﬁ%e REIT index?
A. The index is based on actual {Péémg ‘, ]&
B. The index is more rehable if REIT s res aremorg - frequently traded.
C. REIT index return has very low correlatlon w1th equlty investment return.

\/

Answer: C

REIT icaiﬁz%cmz '31‘1 ﬁ#?ﬂ AR, 5 W R IR R P Rl R e PR,
I C AN IEH

A ETR IR IER, REIT jﬁéﬁzmﬁ?ﬁ\%ﬁﬁ%iﬁ“i% (1) REIT 4380 158 25 I ¥ SR AL 2 1Y)
ik

B ﬁilﬁi\%LLFﬁﬁ il %tsc%ﬂ’] REIT 34042 Z) & R, 2 o B Z, MsEIE A T,
Ky REIT 38 50AT 58 .

3. An analyst is studying four forms of real estate investment:
® Mortgages
® Shares of REITs
® Mortgage-backed securities

® Real estate limited partnerships
How many forms mentioned above can be classified as direct investment in real estate equity?

A. None

B. One
C. Two
Answer: B

A Real estate limited partnerships 7 55 ™ A [R-E KT, 8T EH b5 ™ AL %
Mortgages FE R, RAT B FA P BN B R s H AR S A
Shares of REITs J&ilid #5147 b3 B FER BB AL, [AIFERRAG g i ™ AH SRR o



Mortgage-backed securities #2183 5 A 1 55 I S RUETRAG ™ i, T4 D b 77 A DG A

4. Which of the following is most likely a characteristic of leveraged buyouts?
A. Management buy-ins mean that the existing management team acquires the company.

B. Firms with low leverage and a significant amount of physical assets are attractive as LBO
targets.

C. Inefficient companies are unlikely to become LBO targets.

Answer: B

BETUIER, ATAECZRAL, B St SO ss s SOl 77 sEA WG] 7, BEOAWOR 77 R BAEE
NS 5y 18 A 3 5 AR IS B 4

A IRIANIERf, Management buyouts 74 2 A & B Z W, Management buy-ins /2 J& T4
B8 o

CIETUAIER, 28 MMM AR EAWG /7, BB J7 544 A fe il s A 7 28 R0
, FEEUOWRR A .

5. Which of the following is least likely an exit strategy for priﬁvate equity?
A. Leveraged buyout.

B. Recapitalization.

C. Trade sale.

Answer: A

Leverage buyout J& T~ PE ] —Fh# T 5lE, A2 PE R H 77 s

B IE#i, PE W] DMTREHRHARL, Aefd By 2 m]idad A 47 i o7 s il Bk, W miiish %t <
PR I o 41 1 7 S AF PE Ff3 e Rt A 4

C 1E#i, Trade sale $RIEIIHE PE R (0 H AR 2 ] B AL SZ 48 [RAT b 5 4 0] T B At de i 152
Bi#, KB PE BB .

6. If a futures contract buyer has only few benefits on holding physical commodity, which of the
following statements is most accurate?
A. The convenience yield is high.

B. The futures buyer must bear high storage cost immediately.

C. The futures market is in contango.

Answer: C

A RNIEHE, FrE RSER BT R A Y convenience yield, #FA BTt &/,
convenience yield /)N

B ANIER, T E LGB H A BT AR, B S E AR H AT # AN & 7 A Ak A7 9
C 1E#f§, H T Futures price = Spot price (1 + r) + Storage costs — Convenience yield, convenience
yield />, Spot price<Futures price [F) A GEVEER K, [ Future market B4 7] §g4b T
contangofR %5 .

7. Golden is a hedge fund. The value of the portfolio at the beginning of this year is $82.9 million.
The value of the portfolio increases to $96.6 million at the end of this year. The management fee
is 2% and is calculated using beginning-of-the-year value. The incentive fee is 20%. The
incentive fee is calculated net of management fee. Total fees paid by hedge fund investors this
year are closest to:

A. $4.34 million
B. $4.07 million
C. $4.40 million



Answer: B

TS Management fee=82.9*2%=$1.658 million
TR 2R ] Incentive fee=(96.6-1.658-82.9)*20%=$2.41 million
HHHE S Total fee=1.658+2.41=$4.07 million

8. Which of the following is least likely a characteristic of alternative investment?
A. Managers have flexibility to use derivative and leverage.
B. Alternative investment cannot invest in traditional assets.

C. Alternative investment has unique legal and tax consideration.

Answer: B

BRI R, R BE AT LOEEATAE A FLAFBCE e S S L, SBRGE . figE. 1R
FEARFE T
AR CIETERG, 7RI W] LA s H & A A HLEIRAT 558 . 53 2R3 5™ i A s
IR (2R S B E :

9. An investor is working on researches about fund of funds. He has made several conclusions on
the benefits of fund of funds:
Fund of funds helps smaller investors access to hedge funds.

Investors can enjoy expertise in due diligence on hedge funds.

Investors can enjoy diversification from investing in fund of funds.

The fee structure of a fund of funds is simpler than a single hedge fund.

How many conclusions are most likely correct?

A. Two
B. Three
C. Four
Answer: B

Fund of funds AJ PAFE Bl — 28 /NG 08 32 $ 0e 0t ph 36 42, W A2 3] fund of funds & 4 £ HE X}
LA B (RS B A T R BRA 2 DA R B S i 2 AR B . {22, fund of funds A — Mk
Mo RS HWER R, B 03 25 LB B — A R S R IR 4. [FUL,
HAR =G0 IEfE, e — g2 ixm.

10. The following information is available about a hedge fund:

Initial fund assets $800 million
Fund assets at the end of the period$1000 million|
(before fees)

Management fee based on assets 2 %
under management

Incentive fee based on the return (15 %
Hard hurdle rate 8 %

If the management fees are calculated using beginning-of-period valuation. Incentive fees are
calculated net of management fees. The net-of-fees return of the investor is closest to:

A, 20%
B. 18%
C. 16%




Answer: A

X e 4 () 4 Rl T SRR B P SRR — AN B A I R S T R I e i ek 2 A
B, MRERTHE, BRUAIGEHR AR SRR XEA)LRETE:

o B RAIINYIIL A ARE T

® il %% /& net of management fees i£ /2 independent;

® [ JHi/E soft hurdle I& 2 hard hurdle, [JHEFHIAMME TS, VFE, &S soft — il N2
hard.

X T R A R RN R

B = 29% x 800 = $16 million
HAFRAE-HIHIE = 1000-800=$200 million
Hard hurdle = 800 x 8% = $64 million

Bl = (200-16-64) x 20% = $24 million
M2 =24+16 = $40 million

% [F4R Net return = (1000-800-40)/800 = 20%
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